‘2R

XINGCHEN

FHB(=Z0Z{)3RAS

B &#s
A
LI
| B teicd
- = #2. 3R110-06
o 0.6 =y
S os
0.4 L :
.R 0.3 \
4 0.2 %
& 0.1 s Y A
#0 ;50 300 450 600 750 900 1050
M (L/min)
#E. 3R210-08
0'? T —
@08 — T
Egj ——-__‘--“""" o
_RO..:B — IS \\
i 0.2 N 3
B 0.1 \"‘\‘ N
®o 200 800 1200 1600
#l (L/min)
BS. 3R310-10
0.7 P —rr—
o 0.6 —
o I —
0.5 ———
= 0.4 =11 ==
0.3 -
go.z | T Al
& 0.1 — \ |
80 [ MOV D 0T
0 400 800 1200 1600 2000 2400
i (L/min)
W wEss
12 345 6 7B 91011121314
8{%‘_!"
--I-l""
1]
BES 2% FS &% FE &
1 [HEY: §31 6 ESL4RET |11 PaviL 5o
2 R& 7 | W% 12 | k%
3  ##& 8 |Ifig« 13 | #iREH
4 O 9 |MmE |14 | Fim
5 W 10 | ${E

s 3R110-06 3R210-06 3R210-08 3R310-08 3R310-10
IHENR LE(B40 u miLE 3R i )
BiERH Frazmht
#EO&ED G1/8 G1/4 G3/8
SR 12.0mm* | 14.0mm’ 16.0mm* 25.0mm’ 30.0mm*
(Cv=0.67) | (Cv=0.78) | (Cv=0.89) (Cv=1.39) | (Cv=1.67)
fE =A=fr
w2 W=
EREHER 0~0.8MPa(0~116psi)
RIEMEN 1.5MPa(215psi)
IFBET -20-70
A& AR
VEEFHEPT, NPTFA SR
2mFE MR, BEFAELE, RiREHISOVCI2RERMM,
W asSERTAE
3R 2 10 08
(mBies RIRE ERS (EEO&)
3R: 1: 100% 5] 10: —frf® 100%%: 06: G1/8"
ENZEFHA 2: 200%7%) 200%3%):06: G1/8"
3: 300%% 08: G1/4"
300%%):08: G1/8"
10: G3/8"
W SMERTE(EX)
w
K E -
) AEe ;
L 1/ > I O | 51 i |
9@( i =
g ] g | |3 -6l 4
Ih o
o
by (O S| [N
PRY_ 2-oK/|_Jkc Bl
c LB
B
_#S\#S 3R110-06 3R210-06 3R210-08 3R310-08 3R310-10
A 87 98 98 106.5 106.5
AB 47.8 57.8 57.8 66.5 66.5
AC 10 10 10 10 10
B 18 22 22 27 27
c 27 35 35 40 40
D 25 25 25 25 25
E M12x0.75 | M14x1.0 | M14x1.0 | M16x1.0 | M16x1.0
K 3.1 4.3 4.3 4.3 4.3
KA 21 25 25 30 30
KB 13 16 16 18 18
KC 7.7 8 8 10 10
L 3.3 3.3 3.3 4.3 4.3
LA 19 30 30 35 35
LB 13 17 17 20 20
LC 14 13.5 13.5 15.5 15.5
P G1/8 G1/8 G1/8 G1/4 G1/4
PA 16 22,5 22.5 24 24
_PB 2 0 0 0 0
PC 15.5 17.5 17.5 21 21
PD 24.5 28.5 28.5 33 33
PE 1 0 0 0 0




